
AV4-S6
1/4” SAE ”

SAE
xw/Valve Core & Std Cap (5/8”

18UNF) Swivel Nut w/LTCG.
M.

F.
3/8

Components
1/4” and 5/16” ACCESS VALVES - PIPE THREAD SAE / NPT

© 2018, ENALT 50-07/2018 sup. 04/2015
- 2c -

REFRIGERATION

®

AIR CONDITIONING

ENALT

“only the best”

Specifications, design and materials subject to change without notice.

STRAIGHT ACCESS VALVES - Male SAE w/Valve Core
& Standard Cap x Female SAE Flare w/Long Tan
Copper Gasket & Depressor

Model Description

AV4-S8

AV4-S4

AV5-S6

AV5-S5

AV4-S5

AV5-S4

AV5-S8

AV5LH-S4

Straight Access Valve (7/16” 20UNF)
w/Valve Core & Standard Cap x (7/16” 20UNF)

with Long Tan Copper Gasket & Depressor.

1/4” Male SAE
1/4”

Female SAE

1/4” M. SAE 5/16”
F. SAE R410a R32

w/Valve Core & Std Cap x (1/2”
20UNF) w/LTCG & Depressor. , .

1/4” M. SAE 1/2”
F. SAE

w/Valve Core & Std Cap x (3/4”
16UNF) Swivel Nut w/LTCG.

5/16” M. SAE
1/4” F. SAE R410a R32

(1/2” 20UNF) w/Valve Core & Std Cap x
w/LTCG & Depressor. , .

5/16” M. SAE 3/8” F. SAE
R410a R32

w/Valve Core & Std Cap x
w/LTCG. , .

5/16” M. SAE LH Left Hand
1/4” F. SAE R32

w/Valve Core & Std Cap x
w/LTCG & Depressor. .

5/16” M. SAE 5/16” F. SAE
R410a R32

w/Valve Core & Std Cap x
w/LTCG & Depressor. , .

5/16” M. SAE 1/2” F. SAE
R410a R32

w/Valve Core & Std Cap x
w/LTCG. , .

AV5-S4

Standard Cap
(included)

UNION ACCESS VALVE - Male SAE with Valve Core
and Standard Cap x Male SAE Flare with Nut
For the SFF Self Flare Fitting : cut the tube, deburr and
position it, tighten manualy, stop the joint with an open
ended spanner and close the nut with a hexagon key 17
mm. (22 mm. for 3/8” OD) of 1,5 turns (till the final fit).

AV4U2- 4NSFF

Standard Cap
(included)

AV4-5
1/4” M. SAE

/16” F. SAE .5
(7/16” 20UNF) with Schrader Valve and Std

Hex Cap x and Depressor , .R-410a R-32

AV5-4
5/16” M. SAE

/4” F. SAE .1
(1/2” 20UNF) with Schrader Valve and Std

Hex Cap x and Depressor , .R-410a R-32

AV5-5
5/16” M. SAE

/16” F. SAE5
(1/2” 20UNF) with Schrader Valve and Std

Hex Cap x and Depressor. .R-410a, R-32

AV4-4
1/4” M. SAE

/4” F. SAEx and Depressor.
(7/16” 20UNF) with Schrader Valve and Std
Cap 1Hex

AV4-6
1/4” M. SAE

/8” F. SAE and Copper Gasket.3
(7/16” 20UNF) with Schrader Valve and Std

Hex Cap x

AV5-6
5/16” M. SAE

/8” F. SAEx .
with Schrader Valve and Std

Cap 3
(1/2” 20UNF)

.R-410a, R-32

AV5LH-4
5/16” M. SAE Sx Sinistrorso

1/4” F. SAE R-32
with Schrader Valve and

Std Hex Cap x and Depressor. .

AV5LH-5
5/16” M. SAE Sx Sinistrorso

5/16” F. SAE R-32
with Schrader Valve and

Std Hex Cap x and Depressor.

ACCESS VALVE SAE - with Schrader Valve and
Stadard milled Cap x Female SAE with Copper Gasket

AV4-4 4

AV4-E4
90° 1/4” M.SAE

1/4”
F.SAE

Access Valve (7/16” 20UNF) with
Schrader Valve and standard milled Hex Cap x

with Copper Gasket and Compressor.

AV4-E5
1/4” M. SAE

5/16” F. SAE R-32and Striker. .
with Schrader Valve and standard milled

Hex Cap x

Model Description

ACCESS VALVES SAE - Male with Schrader Valve
and standard milled Cap x Female SAE with Long Tan
Copper Gasket.

90°

AV4-E4

Std Cap
(included)

AV4-E6
1/4” M. SAE

3/8” F. SAE.
with Schrader Valve and standard milled

Hex Cap x

AV5-E4
5/16” M.SAE

1/4” F.SAE R-32
(1/2” 20UNF) w/

w/ Depressor. .
Schrader Valve and std

milled Hex Cap x

AV5-E5
5/16” M. SAE

5/16” F. SAE R-32with Depressor. .
with Schrader Valve and standard milled

Hex Cap x

AV5-E6
5/16” M. SAE

3/8” F. SAE R-32. .
with Schrader Valve and standard milled

Hex Cap x

Model Description

Model Description

AV4U2- 6N

Union Access Valve (7/16” 20UNF)
with Valve Core and Standard Cap x (7/16”
20UNF) Flare w/Hex Nut for 1/4” OD tube.

1/4” Male SAE
1/4”

Male SAE

5/16” M.SAE
5/16” M.SAE

R410a R32

(1/2” 20UNF) w/ Valve Core & Std Cap
x Flare w/ Hex Nut for 5/16” OD tube.

, .

AV4U2- 4N

1/4” Male SAE 1/4”
Male SAE 6,00 mm.

with Valve Core and Std Cap x
Flare with Hex Nut for OD tube.

AV4U2-6MMN

AV4U2- 5N

AV5U2- 4N

AV5U2- 6N

AV5LHU- 4N

AV5U2- 5N

5/16” M.SAE
1/4” M.SAE

R410a R32

(1/2” 20UNF) w/ Valve Core & Std Cap
x Flare w/ Hex Nut for 1/4” OD tube.

, .

5/16” M.SAE
3/8” M.SAE

R410a R32

(1/2” 20UNF) w/ Valve Core & Std Cap
x Flare w/ Hex Nut for 3/8” OD tube.

, .

5/16” M.SAE LH Left Hand
1/4” M.SAE

R410a R32

(1/2” 20UNF) w/ Valve
Core & Std Cap x Flare w/ Hex Nut for
1/4” OD tube. , .

1/4” M.SAE 5/16”
M.SAE

w/ Valve Core and Std Cap x (1/2”
20UNF) Flare w/Hex Nut for 5/16” OD tube.

1/4” M.SAE 3/8”
M.SAE

with Valve Core and Std Cap x
Flare w/Hex Nut for 3/8” OD tube.

AV4-4



Components
1/4” and 5/16” ACCESS VALVES - PIPE THREAD SAE / NPT

Coale trademark ENALT © 2018, ENALT 50-07/2018 sup. 07/2014
- 2d -

Specifications, design and materials subject to change without notice.

REFRIGERATION

®

AIR CONDITIONING

ENALT

“only the best”

Swivel SAE flare Hex Nut with Long Tan Copper Gasket and
Core Depressor installed on existing Service Port. Add a new
line or control. No refrigerant loss during installation on system
under pressure.

ADD MULTIPLE SERVICE PORTS WITH ONE FITTING

•
;

All fitting are flare to receive an Schrader Valve Core in all 1/4”
(7/16” 20UNF) & 5/16” (1/2” 20UNF) Male SAE Flare ends
All fitting with 1/4” F. SAE (7/16” 20UNF) & 5/16” (1/2” 20UNF)
Female SAE Swivel Nut are with Long Tan Copper Gasket and
Depressor installed;

•

• Safe, simple installation with no brazing.

TEE ACCESS VALVE

AV4T2-44N

Standard Cap
(included)

AV4-EAM
Access Valve Elbow (7/16” 20UNF)
with Valve Core & Standard Cap x Male Pipe
Thread.

90° 1/4” Male SAE
1/8” MPT

AV4-EBM
90° 1/4” Male SAE

1/4” M. NPT
Elbow (7/16” 20UNF) with Valve

Core & Std Cap x .

Model Description

ACCESS VALVE 90° ELBOW - 1/4” with
Valve Core and Standard Cap x NPT Male Pipe Thread

Male SAE

AV4-EAM

Standard Cap
(included)

Model Description

Panel Mounting Access Valve (7/16” 20UNF)
with Valve Core, Standard Cap and Hex Lock Nut x
(7/16” 20UNF) Flare with Hex Nut for
( ) OD copper tube.

1/4” Male
SAE
1/4” Male SAE
1/4” 6,35 mm.

AVB4-4N

ACCESS VALVE PANEL MOUNTING - Male SAE with
Valve Core, Standard Cap & Hex Lock Nut x Male SAE
Flare with Nut / MPT Male Pipe Thread
For installations on Refrigerant RRR Recovery, Recycling,
Reclaim Units, Vacuum & Charging Stations, Refrigeration
Equipments

For optional brass caps see page 2i and 2l for details.

, Chillers, Pressure Gauges reading...
Hex Lock Nut with maximum contact surface;
1/4” Female SAE (7/16” 20UNF) Flare Nut for 1/4” OD
copper tubing (Mod. -4N),
For tickness coil 0,003” to 0,09” (0,1 ÷ 2,4 mm.).

•
•

•

5/16” Male SAE
1/4” Male SAE

1/4” R410a R32

(1/2” 20UNF) with Valve Core, Std Cap
& Hex Lock Nut x (7/16” 20UNF) Flare
w/Hex Nut for OD copper tube. , .

AVB5-4N

AVB4-4N

5/16” Male SAE LH
1/4”

Male SAE 1/4” R32

(1/2” 20UNF) Left Hand with Valve
Core, Std Cap & Hex Lock Nut x (7/16” 20UNF)

Flare w/Hex Nut for OD tube. .
AVB5LH-4N

Standard Cap
(included)

AV5-EAM

AV5-EBM

90° 5/16” Male SAE
1/8” M. NPT

Elbow (1/2” 20UNF) with Valve
Core & Std Cap x .

90° 5/16” Male SAE
1/4” M. NPT

Elbow (1/2” 20UNF) with Valve
Core & Std Cap x .

5/16” M. SAE 1/8” M. NPTx . ,R-410a R-32AVB5-AM

5/16” M. SAE LH Left Hand 1/8” M. NPTx . .R-32AVB5LH-AM

Model Description

Access Valve Panel Mounting with
Schrader Valve, milled Standard Cap and Lock Nut x

1/4” M.SAE

1/8” M.NPT
AVB4-AM

1/4” M. SAE 1/4” M. NPTx .AVB4-BM

5/16” M. SAE 1/4” M. NPTx . ,R-410a R-32AVB5-BM

5/16” M. SAE LH Left Hand 1/4” M. NPTx . .R-32AVB5LH-BM

ACCESS VALVE PANEL MOUNTING - Male SAE with
Schrader Valve, Standard Cap and Hex Lock Nut x
Male NPT
•

•
•

Lock Nut with

Schrader Valve and Standard Cap (Included);
Panel weight: 0,1 ÷ 2,4 mm.

large Contact Area. Maximum Threaded
Surface;

AVB4-BM

Standard Cap
(included)

Typical Application with
with Hex Cap and Plastic

Retainer Strap
(optional)



Components
1/4” and 5/16” ACCESS VALVES - PIPE THREAD SAE / NPT

© 2018, ENALT 50-07/2018 sup. 07/2014
- 2e -

REFRIGERATION

®

AIR CONDITIONING

ENALT

“only the best”

Specifications, design and materials subject to change without notice.

Model Description

AV4T1-6

Access Valve (7/16” 20UNF) with
Valve Core & Standard Cap x (5/8” 18UNF)

Flare x (5/8” 18UNF) Swivel Nut
with Long Tan Copper Gasket.

TEE 1/4” Male SAE
3/8” Male

SAE 3/8” Female SAE

1/4” M. SAE
3/8” F. SAE 3/8”

M. SAE

(7/16” 20UNF) with Valve Core & Std Cap x
(5/8” 18UNF) Swivel Nut w/LTCG x

(5/8” 18UNF) .

AV4T3-6

AV5T3-6
5/16” M. SAE
3/8” M. SAE 3/8” F. SAE

R410a R32

(1/2” 20UNF) with Valve Core & Std Cap x
(5/8” 18UNF) x (5/8” 18UNF)

Swivel Nut w/LTCG. , .

AV5T1-6
5/16” M. SAE
3/8” F. SAE 3/8”

M. SAE R410a R32

(1/2” 20UNF) with Valve Core & Std Cap x
(5/8” 18UNF) Swivel Nut w/LTCG x

(5/8” 18UNF) . , .

TEE ACCESS VALVES - Male SAE with Valve Core and
Standard Cap x Male SAE Flare x Female SAE Flare
Swivel Nut with Long Tan Copper Gasket
To connect a new control (Pressure Switch, Winter Low
Ambient Controller...) or Service Port.

AV5T1-6AV5T3-6

AV4T3-4

Model Description

AV4T3-4

Access Valve (7/16” 20UNF) x
(7/16” 20UNF) with Valve Core & Standard
Cap x (7/16” 20UNF) Swivel Nut with
Long Tan Copper Gasket & Valve Core Depressor.

TEE 1/4” Male SAE 1/4”
Male SAE

1/4” Female SAE

AV45T3-4
1/4” M. SAE(7/16” 20UNF) x 5/16” M.
SAE 1/4” F. SAE

R410a R32

(1/2” 20UNF)
with Valve Core & Std Cap x swivel

nut with LTCG & Valve Core Depressor. , .

AV45T3-5
1/4” M. SAE 5/16” M. SAE

5/16” F. SAE
R410a R32

x (1/2” 20UNF) with Valve
Core & Std Cap x (1/2” 20UNF) swivel nut
w/LTCG & Valve Core Depressor. , .

AV54T3-4
5/16” M. SAE

1/4” F. SAE
R410a R32

(1/2” 20UNF) with Valve Core & Std Cap
swivel nut

w/LTCG & Valve Core Depressor. , .
x (7/16” 20UNF) x1/4” M. SAE

AV54T3-5
5/16” M. SAE 1/4”

M. SAE 5/16” F. SAE
R410a R32

with Valve Core & Std Cap x (7/16”
20UNF) x (1/2” 20UNF) swivel
nut w/LTCG & Valve Core Depressor. , .

AV5T3-4

5/16” M. SAE 5/16” M.
SAE 1/4” F.
SAE
R410a R32

(1/2” 20UNF) x (1/2” 20UNF)
with Valve Core & Std Cap x (7/16” 20UNF)
swivel nut with LTCP & Valve Core Depressor.
, .

AV5T3-5

5/16” M. SAE 5/16” M.
SAE 5/16” F.
SAE
R410a R32

(1/2” 20UNF) x (1/2” 20UNF)
with Valve Core & Std Cap x (1/2” 20UNF)
swivel nut with LTCP & Valve Core Depressor.
, .

AV4T1-4

AV4T1-4
Access Valve x swivel
nut with Long Tan Copper Gasket & Valve Core
Depressor x with Valve Core and Std Cap.

TEE 1/4” Male SAE 1/4” F.SAE

1/4” M.SAE

AV45T1-4
1/4” M. SAE 1/4” F.
SAE 5/16”

M. SAE R410a R32

(7/16” 20UNF) x (7/16” 20UNF)
swivel nut w/LTCG & Depressor x (1/2”

20UNF) with Valve Core & Std Cap. ,

AV45T1-5
1/4” M. SAE 5/16” F.
SAE 5/16”

M. SAE R410a R32

(7/16” 20UNF) x (1/2” 20UNF)
swivel nut w/LTCG & Depressor x (1/2”

20UNF) with Valve Core & Std Cap. ,

AV5T1-4
1/4” M. SAE 1/4” F.
SAE 5/16”

M. SAE R410a R32

(7/16” 20UNF) x (7/16” 20UNF)
swivel nut w/LTCG & Depressor x (1/2”

20UNF) with Valve Core & Std Cap. ,

AV5T1-5
1/4” M. SAE 5/16” F.
SAE 5/16”

M. SAE R410a R32

(7/16” 20UNF) x (1/2” 20UNF)
swivel nut w/LTCG & Depressor x (1/2”

20UNF) with Valve Core & Std Cap. ,

AV5T2-44N

1/4” Male SAE
5/16” Male SAE

1/4” Male SAE
R410a R32

(7/16” 20UNF) Flare with Nut for 1/4”
OD tube x (1/2” 20UNF) with Valve
Core & Std Cap x (7/16” 20UNF) Flare
with Nut for 1/4” OD tube. , .

AV5T2-55N

5/16” Male SAE 5/16”
5/16” Male SAE

5/16” Male SAE
5/16” R410a R32

(1/2” 20UNF) Flare with Nut for
OD tube x (1/2” 20UNF) with Valve
Core & Std Cap x (1/2” 20UNF) Flare
with Nut for OD tube. , .

AV4T2-10MMN

1/4” Male SAE
1/4” Male SAE

1/4” Male
SAE

(7/16” 20UNF) Flare with Nut for 10
mm. OD tube x (7/16” 20UNF)
w/Valve Core & Std Cap x (7/16” 20UNF)

Flare with Nut for 10 mm. OD tube.

AV5T2-66N

5/16” Male SAE 3/8”
5/16” Male SAE

5/16” Male SAE
3/8” R410a R32

(1/2” 20UNF) Flare with Nut for
OD tube x (1/2” 20UNF) with Valve
Core & Std Cap x (1/2” 20UNF) Flare
with Nut for OD tube. , .

TEE ACCESS VALVES - Male SAE with Valve Core and
Standard Cap x Male SAE Flare x Female SAE Flare
Swivel Nut with Long Tan Copper Gasket & Depressor Standard Cap

(included)

Model Description

AV4T2-44N

Access Valve (7/16” 20UNF)
Flare with Nut for ( .) OD tube x
(7/16” 20UNF) with Valve Core & Standard
Cap x (7/16” 20UNF) Flare with Nut
for ( .) OD tube.

TEE 1/4” Male SAE
1/4” 6,35 mm 1/4”

Male SAE
1/4” Male SAE

1/4” 6,35 mm

AV4T2-6MMN

1/4” M. SAE 6,0 mm
1/4” M. SAE 1/4”

M. SAE 6 mm

(7/16” 20UNF) with Nut for . OD
x (7/16” 20UNF) w/Std Cap x (7/16”
20UNF) w/Nut for . OD.

AV4T2-55N

5/16” Male SAE 5/16” 8,0
mm 1/4” Male SAE

5/16” Male SAE 5/16” 8,0
mm

(1/2” 20UNF) w/Nut for (
.) OD x (7/16” 20UNF) w/Std Cap

x (1/2” 20UNF) w/Nut for (
.) OD.

AV4T2-66N
3/8” M. SAE 3/8” 9,52 mm

1/4” M. SAE 3/8”
M. SAE 3/8” 9,52 mm

(5/8” 20UNF) w/Nut for ( .)
OD x (7/16” 20UNF) w/Std Cap x
(5/8” 18UNF) with Nut for ( .) OD



TIPICAL MALE PIPE THREAD INSTALLATION

•

•

•
•

All fitting are flare to receive an Schrader Valve in all 1/4” (7/16” 20UNF) and 5/16” (1/2” 20UNF) Male
SAE Flare ends;
All Access Valves are equipped with Standard Brass Seal Cap NFT5- 4 or NFT5- 5 ( for optional Seal
Caps please see pages 02i and 02l);
All Male Pipe Thread connections have internal braze cup for dip tube installation;
Safe, simple installation with no brazing.

Components
1/4” and 5/16” ACCESS VALVES - PIPE THREAD SAE / NPT

Coale trademark ENALT © 2018, ENALT 50-07/2018 sup. 07/2014
- 2f -

Specifications, design and materials subject to change without notice.

REFRIGERATION

®

AIR CONDITIONING

ENALT

“only the best”

Pipe Tap Dip
Tube

MPT

TEE ACCESS VALVES - (2) Male SAE with (1) Valve
Core and Standard Cap x MPT Male Pipe Thread

Model Description

Access Valve (7/16” 20UNF) x
Male Pipe Thread x (7/16” 20UNF)

with Valve Core and Standard Cap.

TEE 1/4” Male SAE 1/8”
M. NPT 1/4” Male
SAE

AV4T1-A

(1)

(2)

(3)

AV4T1-A

1/4” M. SAE 1/4” M. NPT 1/4”
M. SAE

(7/16” 20UNF) x x (7/16”
20UNF) with Valve Core & Std Cap.

AV4T1-B

5/16” M. SAE 5/16” M.
SAE R410a, R32

(1/2” 20UNF) x
with Valve Core & Std Cap. .

1/8” M. NPT x
AV5T1-A

Model Description

AV4T3-B

Access Valve (7/16” 20UNF) x
(7/16” 20UNF) with Valve Core & Standard
Cap x Male Pipe Thread.

TEE 1/4” Male SAE 1/4”
Male SAE

1/8” MPT

1/4” M. SAE 1/4” M.
SAE 1/4” M. NPT

(7/16” 20UNF) x (7/16” 20UNF)
w/Valve Core & Std Cap x .

AV4T3-A

5/16” M. SAE 5/16” M.
SAE 1/8” M. NPT R410a
R32

(1/2” 20UNF) x (1/2” 20UNF)
with Valve Core & Std Cap x . ,

.
AV5T3-A

Model Description

AV4C1-4

Cross Access Valve (7/16” 20UNF)
Flare Swivel Nut with Long Tan Copper Gasket & Valve
Core Depressor x (7/16” 20UNF)
with (1) Valve Core & (1) Standard Cap.

1/4” Female SAE

(3) 1/4” Male SAE

CROSS ACCESS VALVE - (3) Male SAE with (1) Valve
Core and (1) Cap x Female SAE Swivel Nut with
Depressor
All Male SAE ends flared to receive a Schrader Valve.

AV4C1-4

AV5C1-4
1/4” F. SAE

(3) 5/16” M. SAE
R410a R32

(7/16” 20UNF) Flare Swivel Nut w/LTCG &
Depressor x (1/2” 20UNF) with (1)
Valve Core & (1) Std Cap. , .

1/4” M. SAE 5/16” M.
SAE 1/8” M. NPT R410a
R32

(7/16” 20UNF) x (1/2” 20UNF)
with Valve Core & Std Cap x . ,

.
AV45T3-A

1/4” M. SAE 5/16” M.
SAE 1/4” M. NPT R410a
R32

(7/16” 20UNF) x (1/2” 20UNF)
with Valve Core & Std Cap x . ,

.
AV45T3-B

5/16” M. SAE 5/16” M.
SAE 1/4” M. NPT R410a
R32

(1/2” 20UNF) x (1/2” 20UNF)
with Valve Core & Std Cap x . ,

.
AV5T3-B

5/16” M. SAE 1/4” M.
SAE /8” M. NPT R410a
R32

(1/2” 20UNF) x (7/16” 20UNF)
with Valve Core & Std Cap x 1 . ,

.
AV54T3-A

5/16” M. SAE 1/4” M. SAE
1/4” M. NPT R410a R32

x (7/16” 20UNF) with Valve
Core & Std Cap x . , .

AV54T3-B

(1)

(3)

AV45T3-B

(2)

1/4” M. SAE 5/16” M.
SAE R410a, R32

x (1/2” 20UNF)
with Valve Core & Std Cap. .

1/8” M. NPT x
AV45T1-A

1/4” M. SAE 5/16” M.
SAE R410a, R32

x (1/2” 20UNF)
with Valve Core & Std Cap. .

1/4” M. NPT x
AV45T1-B

5/16” M. SAE 5/16” M.
SAE R410a, R32

x (1/2” 20UNF)
with Valve Core & Std Cap. .

1/4” M. NPT x
AV5T1-B

Standard Cap
(included)

TEE ACCESS VALVES - Male SAE x MALE SAE with (1)
Valve Core and Standard Cap x MPT Male Pipe Thread

Standard Cap
(included)

Standard Cap
(included)

AV4T3-C
1/4” M. SAE 1/4” M.
SAE /8” M. NPT

(7/16” 20UNF) x (7/16” 20UNF)
w/Valve Core & Std Cap x 3 .

1/4” M. SAE 5/16” M.
SAE 3/8” M. NPT R410a
R32

(7/16” 20UNF) x (1/2” 20UNF)
with Valve Core & Std Cap x . ,

.
AV45T3-C

5/16” M. SAE 5/16” M.
SAE 3/8” M. NPT R410a
R32

(1/2” 20UNF) x (1/2” 20UNF)
with Valve Core & Std Cap x . ,

.
AV5T3-C

5/16” M. SAE 1/4” M. SAE
3/8” M. NPT R410a R32

x (7/16” 20UNF) with Valve
Core & Std Cap x . , .

AV54T3-C

5/16” M. SAE 3/8 5/16” M.
SAE R410a, R32

x (1/2” 20UNF)
with Valve Core & Std Cap. .

” M. NPT x
AV5T1-C

1/4” M. SAE 3/8 1/4” M.
SAE R410a, R32

x (1/2” 20UNF)
with Valve Core & Std Cap. .

” M. NPT x
AV4T1-C

1/4” M. SAE 3/8 5/16” M.
SAE R410a, R32

x (1/2” 20UNF)
with Valve Core & Std Cap. .

” M. NPT x
AV45T1-C



Components
1/4” and 5/16” ACCESS VALVES - PIPE THREAD SAE / NPT

© 2018, ENALT 50-07/2018 sup. 07/2014
- 2g -

REFRIGERATION

®

AIR CONDITIONING

ENALT

“only the best”

Specifications, design and materials subject to change without notice.

Model Description

AV4C1-A
Cross Access Valve Male Pipe Thread x

(7/16” 20UNF) with (1) Valve Core and
(1) Standard Cap.

1/8” M. NPT (3)
1/4” Male SAE

CROSS ACCESS VALVE - (3) Male SAE with (1) Valve
Core an (1) Stndard Cap x MPT Male Pipe Thread

AV4C1-A

AV5C1-A
1/8” M. NPT (3) 5/16”
M. SAE R410a, R32.

Male Pipe Thread x (1/2” 20UNF)
with (1) Valve Core & (1) Std Cap.

protuits pour la réfrigération et l’air conditioné
frigorifiques, réfrigération, climatisation, Schrader valves
pour la réfrigération, avec Valve néoprène pour fluide
réfrigérants serrage manuel, valves frigorifiques,
Cl imatiseur, Cl imatique, Froid, Cl imatisat ion,
Réfrigération, air conditionné, 1/4” SAE, 7/16”-20UNF,
7/16-20“UNF, R-407f. R407f, 5/16” SAE, 1/2”-20UNF,
1/2-20”UNF, R-32, R32, avec Valve néoprène pour fluide
réfrigérants serrage manuel, Climatiseur, Climatique,
Froid, Climatisation, Réfrigération, air conditionné 1/4”
SAE, 7/16”-20UNF, 7/16-20“UNF, R-407f. R407f, 5/16”
SAE, 1/2”-20UNF, 1/2-20”UNF, R-32, R32, 1/4” NPT, 1/8”
NPT, Charge avec vanne pour fluide réfrigérants, mâle,

frigorifiques, CFC, HCFC, HFC R1234ze(E), R-
1234ze(E), R22, R-22, R-134a, R134a, R404a, R-404a,
R-407c, R407c, R407f, R-407f, R410a, R-410a, R32, R-
32, HFC32, HFC-32, R507, R-507, R717, R-717, NH3,
Opteon XP40, Sostice

Adaptatores, válvula refrigeratión, Aire Acondicionado,
Aires Acondicionados, Valvula Cruzada, 1/4” SAE, 7/16”-
20UNF, R-407f. R407f, 5/16” SAE, 1/2”-20UNF, R-32,
R32, 1/4” NPTM, 1/8” NPTF, 3/8” NPTM, Refrigerados,
válvula de servicio, válvula, cortatubos, Valvulas de
accesso, Valvulas conexión, refrigeratión, Adaptatored
de Carga, Valvula de Servicio, Valvula Obus en “T”,
Valvula de conexion, Valvula Cruzada, gases frigoríficos
R-1234ze(E), R1234ze(E), R-134a, R134a, R404a, R-
404a, R-407c, R407c, R407f, R-407f, R410a, R-410a,
R32, R-32, HFC32, HFC-32, R449a, R-449a, R507, R-
507, Opteon XP40, Sostice, 7/16”-20UNF, R-407f.
R407f, 5/16” SAE, 1/2”-20UNF, R-32, R32, HFC32,
HFC-32, R507, R-507, Opteon XP40, Sostice

, fluides

fluides

Valvula de
Servicio, refrigeratión, Valvula de Obus, Aire
Acondicionado, 1/4” SAE, 7/16” 20UNF, 5/16” SAE, 1/2”
20UNF, 1/4” NPTM, 1/8” NPTF, 3/8” NPTM,

Komponenten für die Kältetechnik,
serviceventile mit lötanschlluss,

messing block, kupfer einstechventile,
ventilkernentferner,
serviceventile mit lötansatz, ventilkern, adapter, fitinge
undere anschlüsse, Klimatechnik, Übergangsstück mit
Ventildrücker Kälte-Klima Werkzeuge und Komponenten
FCKW, HFKW, HFCKW Klimatechnik, Klimaanlagen,
Evakuieren, Schläuche, Kältemittel Füllschläuche, Kälte-
Klima Werkzeuge, 7/16”-20UNF, R-407f.
R407f, 5/16” SAE, 1/2”-20UNF, R-32, R32, 1/4” NPT, 1/8”
NPT, FCKW, HFKW FC, HCFC, HFC, R1234ze(E), R-
1234ze(E), R-134a, R134a, R404a, R-404a, R-407c,
R407c, R4107f, R-407f, R410a, R-410a, R32, R-32,
HFC32, HFC-32, R507, R-507, Opteon XP40, R-449a,
R449a, Sostice R1234ze(E), R1234ze(E)

Access Service Ports Schrader with Finger Tight Flare
Brass Cap, Schraeder for Air-Conditioning, Refrigeration,
R410a, R-410a, R32, R-32, HFC-32, HFC32, Suva Klea
7/16”-20UNF, R-407f. R407f, 5/16” SAE, 1/2”-20UNF, R-
32, R32, 1/4” NPT, 1/8” NPT, Access Service Valve swivel
nut with Long Tan Copper Gasket and depressor, 5/16”
1/2” 20UNF male with valve core Schrader, Service Ports
1/4” 7/16” 20UNF thread Male, 1/4” SAE Flare with Valve
core, Finger Tight 1/4” or 5/16” SAE Flare Brass Cap,
swivel nut with copper gasket and valve depressor,
refrigerants R32, R-32, HFC32, HFC-32 adapter 1/4” SAE
7/16”-20UNF, R-407f, R407f, R-449a, R449a, 5/16” SAE,
1/2”-20UNF, R-32, R32, 1/4” NPT, 1/8” NPT male with
valve core Schrader Straight 90° bend for R32, R-32,
HFC32, HFC-32, FC, HCFC, HFC R1234ze(E), R-
1234ze(E), R-134a, R134a, R404a, R-404a, R-407c,
R407c, R4107f, R-407f, R410a, R-410a, R32, R-32,
HFC32, HFC-32, R507, R-507, Opteon
XP40, Sostice, 1/4” SAE, 7/16”-20UNF, R-407f, R407f,
5/16” SAE, 1/2”-20UNF, R-32, R32, Service Valves AC&R,
Air Conditioning, Refrigeration, 1/4” NPT, 1/8” NPT, 3/8”
NPT Thread 1/4” MPT, 1/8” MPT, 3/8” MPT, 1/4” FPT, 1/8”
FPT, 3/8” FPT Service Ports with Finger Tight Flare Brass
Cap.

ar condicionado, refrigeração, Valvulas de Carga SAE,
ODS, te 1/4”, casquillho curvo SAE, MP, Latão te SAE
Macho, Tampão M/F, te redução, Uniões Reducao,
Uniões Curva, Valvulas de Carga 1/4” SAE, 5/16” SAE
Uniao Direita (MF), FC, HCFC, HFC, R1234ze(E), R-
1234ze(E), R-134a, R134a, R404a, R-404a, R-407c,
R407c, R4107f, R-407f, R410a, R-410a, R32, R-32,
HFC32, HFC-32, R507, R-507, Opteon XP40, Sostice,
Conexões, união redutora, Latão te 1/4” SAE, tee 5/16”,
ar condicionado, refrigeração, Valvulas de Carga,
redução, cotovelo, para manutenção de sistemas de ar
condicionado, refrigeração, Porca,

TE 7/16”-20UNF Macho, R-407f, R407f, R-
449a, R449a, 5/16” SAE macho, 1/2”-20UNF, R-32, R32,
1/4” NP T, 1/8” NPT, 3/8” NPT,

Verschillende modellen vulnippels met schräderventiel,
aansluiting

soldeer, flare. Ook T-stukken met losse wartels en
ventielopeners.

Schraderventil T-Stück
Typ, Lötstutzen Typ,

Kreuzstücke Typ,
Schraderventil, Winkelstück Typ

Schraderventil,

R-449a, R449a,

1/8” NPT, 1/4” NPT,
3/8” NPT,

1/4” SAE 7/16” 20UNF, 5/16” SAE 1/2” 20UNF,

R4107f, R-407f, R1234ze(E), R-
1234ze(E), R-449a, R449a, 1/8” NPT, 1/4” NPT, 3/8” NPT


